Standard Options

Description: Horizontal Drop Plate Assembly
P/N: TO-T1-HLS10-S14

Machine: T-1000

Manual Revision: 2

V- . Advanced
4 Poly-Packaging, Inc.

1331 Emmitt Road « Akron, OH 44306 - 1-800-754-4403 - fax 330-785-4010 « www.advancedpoly.com

\




Horizontal Drop Plate Assembly

TO-T1-HLS10-S14

ITEM NO. QTy. PART NO DESCRIPTION
1 2 TP-T1MBO0022HLS SUPPORT BLOCK
2 2 TP-107126 1/21D, 3/4 OD, .75 LONG
3 1 TP-T1IMBO00076 LOAD SHELF ROD
4 1 TP-T1MBOOO75HLS LOAD SHELF DROP PLATE
5 1 TP-4021 AIR FLOW CONTROL
6 1 TP-403269 TRUNNION BRACKET (L)
7 1 TP-403269 TRUNNION BRACKET (R)
8 1 TP-403277 AIR CYLINDER
9 1 TP-403268 CLEVIS
10 1 TP-HLS10-03 CLEVIS MOUNT
11 2 TP-103418 SCREW, FHCS 1/4-20 X 3/4" S.S.
12 2 TP-103244 SCREW, BHCS 1/4-20 X 5/8
13 2 TP-102142 WASHER, 1/4 FLAT
14 6 TP-102155 WASHER, 1/4 LOCK
15 2 TP-101111 NUT, 1/4-20 HEX
16 2 TP-103139 SCREW, SHCS 1/4-20 X 3/4"
17 4 TP-103543 SCREW, SHCS 1/4-20 X 1-3/4 S.S.

Version 2

8/8/2018




THIS PART TP-TIMB0O0200 IS PART OF
THE SEALER ASSEMBLY TA-T10280 AND

IS ADDED HERE FOR CLARITY

8/8/2018

Version 2




